PURCHASE ORDER COUNTY OF LAKE COURT HOUSE 255 N. FORBES ST. LAKEPORT, CA 95453

DATE: October 6, 2017	Purchase Order Number	2602-004
	Reference	CDD cubicles
CONTRACTOR:	Department No.	2602
AAA Business Interiors TCPN - Contract R142208 48 St. James Drive	Delivery Date	To be coordinated with the County
Santa Rosa, CA 9! Attn: Darvin Goodrum	Delivery Point	255 N. Forbes St. Lakeport, California, 95453 third floor

Description	Unit Cost	Total
Provide and install 41 cubicles and related accessory and ancillary fixtures as described in the attached bid dated 7/31/2017		\$84,949.36
Total		\$84,949.36

Purchasing Agent/Asst. Purchasing Agent:	Ву	



* SANTA ROSA SHOWROOM *

48 St. James Drive Santa Rosa, CA 95403

Showroom by Appointment Only

Date: 7/31/2017

Rep:

Darvin Goodrum 707-575-8200 x1321 415-821-2601 Fax DarvinG@aaasolutions.com

Bill To: Ship To:

Lake County Comm. Devel. Dept. Robert Massarelli, AICP 255 N. Forbes St.

Lakeport CA 95453

SAME....

Item	Qty.	Product			l Price Extended
1	5	H18717A	Box/box/file 28"Hx16 7/8"Dx14 15/16"W	\$189.72	\$948.6
			Lock/Omt Opts .L Standard Random Key Lock		
			Select Paint Color \$(CORE) PAINT: Select Core Paint		
			Select Paint ~ Undecided PAINT Option		
2	36	HPSEAT24ND	Contain 15x24 Pedestal Cushion	\$54.56	\$1,964.1
		Select Մլ	pholstery for PSEAT24 \$(1) Gr 1 Uph		
			Grd 1 Uph ~ Undecided FABRIC Option		
3	36	H15923A	Flagship B/F Mobile Ped 22H x15W x 22-7/8D/A Pull	\$160.27	\$5,769.7
			Lock/Omt Opts .L Standard Random Key Lock		
			Select Paint Color \$(CORE) PAINT: Select Core Paint		
			Select Paint ~ Undecided PAINT Option		
4	41	HH871501	Duplex Receptacle Circuit 1 3-1 & 2-2 Systems	\$11.47	\$470.2
			Select Paint Color ~ Undecided PAINT Option		
5	37	HH871502	Duplex Receptacle Circuit 2 3-1 & 2-2 Systems	\$11.47	\$424.3
			Select Paint Color ~ Undecided PAINT Option		
6	36	HH871504	Duplex Receptacle Circuit 4 3-1 & 2-2 Systems	\$11.47	\$412.9
			Select Paint Color ~ Undecided PAINT Option		
7	36	HHTADF4	Four-port Flex Mode faceplate	\$6.82	\$245.5
			Select Color Option .P Color: Black		
8	61	HH871236	Electrical Power Harness 36W 3-1 & 2-2 Systems	\$57.35	\$3,498.3
9	1	HH871224	Electrical Power Harness 24W 3-1 & 2-2 Systems	\$57.35	\$57.3
10	1	HH871248	Electrical Power Harness 48W 3-1 & 2-2 Systems	\$60.14	\$60.1
11	11	HH871912	Ceiling In-Feed Cable 144" long	\$66.34	\$729.7
12	11	HECPP156	Integrated Power Pole 13"H 2" x 2"	\$181.35	\$1,994.8
			Select Paint Color \$(CORE) PAINT: Select Core Paint		
			Select Core Paint ~ Undecided PAINT Option		
<i>13</i>	60	HETP5024DP	Tackable Top Tier Glass Panel w/o TC 50H x 24W	\$150.66	\$9,039.6

						Sell	Price
Item	Qty.	Product					Extended
			Fabric Selection	\$(A)	Gr A Fabric		
			Gr A Fab	~	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
			Select Glass	.Q	Glass: Clear		
14	60	HETC24	Panel Top Cap 24	."\W		\$9.61	\$576.60
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint	43.02	40,0100
			Select Core Paint	~	Undecided PAINT Option		
<i>1</i> 5	1	HETP5072FP	Tackable Panel w	/o TC5 0H	v 72W	\$166.16	\$166.16
	-	11217 307 217	Fabric Selection	\$(A)	Gr A Fabric	Ψ100110	Ψ100110
			Gr A Fab	Ψ(/·) ~	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	φ(CORL) ~	Undecided PAINT Option		
10	20	LIETDE 072DD	Taskabla Tan Tia	. Class Davi		¢2E7 20	#7 204 40
<i>16</i>	28	HETP5072DP	Fabric Selection		nel w/o TC 50H x 72W Gr A Fabric	\$257.30	\$7,204.40
				\$(A)			
			Gr A Fab	~ *(CODE)	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
			Select Glass	.Q	Glass: Clear		
17	29	HETC72	Panel Top Cap 72	."W		\$27.59	\$800.11
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
18	7	HETP5048DP	Tackable Top Tie	r Glass Pan	el w/o TC 50H x 48W	\$180.11	\$1,260.77
			Fabric Selection	\$(A)	Gr A Fabric		
			Gr A Fab	~	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
			Select Glass	.Q	Glass: Clear		
19	1	HETP5048FP	Tackable Panel w	/o TC 50H	x 48W	\$121.21	\$121.21
			Fabric Selection	\$(A)	Gr A Fabric		
			Gr A Fab	~	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
20	8	HETC48	Panel Top Cap 48	"W		\$17.98	\$143.84
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
21	27	HETP5036FP	Tackable Panel w	/o TC 50H	x 36W	\$101.99	\$2,753.73
			Fabric Selection	\$(A)	Gr A Fabric	7	, _,· -,· -
			Gr A Fab	~	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~ ~	Undecided PAINT Option		
22	24	HETDE03CDD	Taglebla T T'-	r Class Da		#1F7 17	4E 242 70
22	34	HETP5036DP	гаскаріе гор Гіе	r Glass Pan	el w/o TC 50H x 36W	\$157.17	\$5,343.78

P:\Furniture\Customer Files\Darvin Goodrum\Customers\L\Lake County 34 Cubes\LAKE COUNTY-4-12-17.visual.sp4

Page 2 of 6

						Sell	Price
Item	Qty.	Product				Unit	Extended
			Gr A Fab	~	Undecided FABRIC Option		
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
			Select Glass	.Q	Glass: Clear		
23	61	НЕТСЗ6	Panel Top Cap 36	5"W		\$14.88	\$907.68
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
24	29	HEC50PT	T Connector 50H			\$38.75	\$1,123.75
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
25	33	HSCKTPS	Straight Connecte	or Kit		\$4.65	\$153.45
			Select Paint Color	.X	No Option		
26	5	HEWS50P	Wall Starter Kit fo	or Panels 50	DH	\$25.11	\$125.55
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
27	43	HEC50PL	L Connector 50H			\$38.75	\$1,666.25
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
28	60	HEFEC50P	Panel Finished Er	nd Covers 5	0H	\$14.88	\$892.80
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
29	3	HEC50PX	X Connector 50H			\$38.75	\$116.25
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
<i>3</i> 0	5	HFTLD36	Flock 36 Diamete	er Round La	minate Top	\$150.54	\$752.70
			Edge Type	.G	2MM Edge		
			Select Edge Color	~	Undecided EDGE Option		
			Grommet Selection	.N	No Grommet		
			Select Grade	\$(L1STD)	Grd L1 Standard Laminates		
			Select Laminate Finish	~	Undecided LAMINATE Option		
31	5	HFXB29B	Flock x-base for 2	29 1/2"h ta	bles Use w/36" tops	\$221.91	\$1,109.55
			Select Paint Color	~	Undecided PAINT Option		
<i>32</i>	3	HCWR2472T	T Accelerate Rectar	ngle wksfc	TEE span 24"D x 72"W	\$142.91	\$428.73
			Select Laminate	\$(L1STD)	Grd L1 Standard Laminates		
			Laminate Selection	~	Undecided LAMINATE Option		
			SELECT T-MOLD COLOR	~	Undecided EDGE Option		
			Select Grommet Color	~	Undecided GROMMET Option		
33	3	HWR2472T	Systems Worksur	face Recta	ngular 24Dx72W	\$133.30	\$399.90
			Select Laminate	\$(L1STD)	=		
			Laminate Selection	~	Undecided LAMINATE Option		
			SELECT T-MOLD COLOR	~	Undecided EDGE Option		
					-		

						Se	II Price
Item	Qty.	Product				Unit	Extended
			Select Grommet Color	~	Undecided GROMMET Option		
34	18	HWV93AARP	•		rner Cove Worksurface Edgeband	\$194.06	\$3,493.08
			Select Laminate	\$(L1STD)	Grd L1 Standard Laminates		
			Laminate Selection	~	Undecided LAMINATE Option		
			Select Edgeband Color	~	Undecided EDGE Option		
			Select Grommet Color	~	Undecided GROMMET Option		
<i>3</i> 5	35	HWR2436P	Systems Rectand	ııılar Works	urface Edgeband 24D x 36W	\$100.44	\$3,515.40
2	55		Select Laminate	\$(L1STD)	Grd L1 Standard Laminates	4	40/0-0110
			Laminate Selection	~	Undecided LAMINATE Option		
			Select Edgeband Color	~	Undecided EDGE Option		
			Select Edgeband Color Select Grommet Color	~	Undecided GROMMET Option		
			Sciect diominet color		ondedded Grown Er Opdon		
36	18	HWV93AALP	Systems 72x36x2	24x24Left C	orner Cove Worksurface Edgebd	\$194.06	\$3,493.08
			Select Laminate	\$(L1STD)	Grd L1 Standard Laminates		
			Laminate Selection	~	Undecided LAMINATE Option		
			Select Edgeband Color	~	Undecided EDGE Option		
			Select Grommet Color	~	Undecided GROMMET Option		
<i>3</i> 7	1	HWR2448P	Systems Rectang		urface Edgeband 24D x 48W	\$117.49	\$117.49
			Select Laminate	\$(L1STD)	Grd L1 Standard Laminates		
			Laminate Selection	~	Undecided LAMINATE Option		
			Select Edgeband Color	~	Undecided EDGE Option		
			Select Grommet Color	~	Undecided GROMMET Option		
<i>3</i> 8	5	HWV95AARP	Systems 72v48v2	24v24Rt Co	rner Cove Worksurface Edgeband	\$242.42	\$1,212.10
\mathcal{L}	,	IIWVJJAARP	Select Laminate	\$(L1STD)	Grd L1 Standard Laminates	ΨΖ 12.12	Ψ1,212.10
			Laminate Selection	φ(LI31D) ~	Undecided LAMINATE Option		
			Select Edgeband Color	~	Undecided EDGE Option		
			Select Edgeband Color Select Grommet Color	~	Undecided GROMMET Option		
			Select Grommet Color	,,,	Ondecided GROMMET Option		
<i>3</i> 9	78	FLAT24	Flat Brackets, 24	" Mending բ	plates	\$17.67	\$1,378.26
40	36	HCTL242	24D Cantilever O			\$23.25	\$837.00
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
41	77	HWSB2	Worksurface Brad	rket Kit		\$12.40	\$954.80
71	,,	IIWSDZ	Select Paint Color	\$(CORE)	PAINT: Select Core Paint	Ψ12110	φ33 1100
			Select Core Paint	φ(CORL) ~	Undecided PAINT Option		
			Sciece core i ame		onacciaca (74) opaon		
42	42	HLSLZ5SC72	60"W External St	iffener		\$30.07	\$1,262.94
			Select Color Option	.P	Color: Black		
43	5	HLSLZ5SC54	42"W External St			\$25.42	\$127.10
			Select Color Option	.P	Color: Black		
44	6	HRVEP2429L	Abound 29"H x 2	ارالا ا مالا Er	nd Panel	\$62.62	\$375.72
77	U	IINVLPZ4ZJL	Select Paint Color	\$(CORE)	PAINT: Select Core Paint	φυ2.02	ψυ/ υ./ Δ
			Select Core Paint	\$(CORE) ~	Undecided PAINT Option		
			Sciect Core Failit	.•	Ondecided (AIN) Option		
45	6	HRVEP2429R	Abound 29"H x 2	4"D Right E	End Panel	\$62.62	\$375.72

						36	II PIICE
Item	Qty.	Product				Unit	Extended
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
46	5	HSDEP2429F	24'D End-Panel S	upports: Fi	reestanding	\$54.56	\$272.80
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
47	5	HSDCDPA29L	29.5"H Corner w/	Desk Pane	el Attchmnt Kit for Abode	\$26.97	\$134.85
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
48	10	HSDG	Gussets (1 Pr)			\$31.62	\$316.20
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
49	1	LABOR	Labor to receive,	deliver, &	install 41 workstations as per drawings.	\$13,120.00	\$13,120.00
50	1	LABOR	2nd Installation b	ased on a	2nd date to be determined	\$1,150.00	\$1,150.00
51	1	LABOR	3rd Installation ba	ased on a 3	Brd date to be determined	\$1,150.00	\$1,150.00
52	1	NOTES	Product no longer	r able to be	e met on site. Must be delivered off site	\$0.00	\$0.00
53	0		Below box/box/Fi	le & Storag	ge Wardrobe for pricing purpose purpos	\$0.00	\$0.00
54	0	HSTBX502424LBB	Contain 50x24x24	4 Wrdrb L/I	Dr/B/B/F- Mtl Frt A PII	\$698.95	\$0.00
			Select Paint Color	\$(CORE)	PAINT: Select Core Paint		
			Select Core Paint	~	Undecided PAINT Option		
			Lock/Omt Opts	.L	Standard Random Key Lock		
		Design	Design			\$0.00	\$0.00

Quote 'Total' subject to applicable sales tax.

Make Purchase order out to...

AAA Business Interiors TCPN - Contract R142208 48 St. James Drive

Santa Rosa, CA 95403

Send copy to...

Darvin Goodrum @

email: DarvinG@aaasolutions.com

Total Sell: \$84,949.36

Sell Price

Ship to:

Sell Price

Unit Extended Product Item

GENERAL FURNITURE TERMS AND CONDITIONS

- PROPOSAL ESTIMATES. This proposal is subject to applicable sales tax at the time the furniture is delivered. Any delivery and installation quotes are based on non-union and non-prevailing wage labor between the hours of 7:00am to 4:00pm, Monday through Friday, unless otherwise stated.
- 2. ORDER PROCESSING. The customer is responsible for verifying all model numbers, dimensions, sizes, finishes and quantities are correct as specified on the proposal. Once the order has been placed, it is non-cancelable and non-returnable. Any change must occur within 24 hours of AAA receipt of signed quote.
- 3. ADDITIONAL CHARGES. The site is to be free and clear for installation at the agreed upon date and time. If your site is not ready to accept delivery and installation, the order is immediately billable. Any labor costs for transporting the product to an alternate location, including back to the AAA warehouse, and for redelivering and storing product, will be chargeable to the client. If there are any unusual conditions that were not specifically covered by the quote, including having to move or dispose of existing furniture, the labor costs to address these conditions are chargeable to the client. AAA Business Interiors will assess a finance charge of 1.5% on all past due balances.
- **DROP SHIPMENTS.** In the event that a customer has chosen to have the product shipped directly from the manufacturer to their designated location, the customer assumes responsibility of the product, the labor to remove the product from the truck and to inspect the order for accuracy and damages. The title and risk of loss is immediately passed onto the customer upon delivery. If any portion of the shipment is damaged or missing, the customer is not to sign off on the receipt until the delivery company makes an appropriate notation on the receipt. The customer is responsible for filing a freight claim with the delivery company within 3 days of receipt. If there is any concealed damage, the customer agrees to make a written request within 7 days to the freight company directly. At time of receipt, regardless of the status of any freight claims, the customer agrees the invoice is payable in full.
- 5. LIABILITIES AND WARRANTIES. AAA Business Interiors is not liable for any defective product but shall pass on the warranty of the manufacturer. Any damage or loss of the product shall be the customer's responsibility unless caused by AAA Business Interiors. AAA Business Interiors is not liable for delays in delivery where the cause is beyond reasonable control. AAA Business Interiors responsibility is to deliver and assemble within a reasonable time based upon the manufacturer's acknowledgment date at time of order. Under no circumstances shall the customer deem AAA liable for damages caused by delay, loss of profit, or interruption of service.
- 6. **ELECTRICAL DISCLAIMER.** When required, the customer will provide their own electrical power and the services of an electrician. It is the customer's responsibility to ensure that the electrician wires the furniture according to applicable code.

A 50% Deposit is required on all orders unless specifications and all orders unless specifications are specifications.	, DATE:
PRINT NAME HERE:	
TITLE:	
COMPANY NAME:	PO# if Required: